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Prove that the following cugﬁ\%
5 p 3

Find the radius of the cqrvatﬁr%yof the curve r = asin
er & A

OR ;
If tany =x, provethat (1+x)y,,, +2(n+Dxy,,, +n(n+1)y, =0.

;wdru, o
curve n’y=a(x’ +y?) at (-2a, 2a).

Find the~$§% us of curvature for the
g ( ﬁ%

” %W

& Module-3

Also find a scalar filnction ¢ such that i; =V¢.
Prove that diy(curl A)=0.

1 of2

{
s orthogonally r=a(l4#sin6) and r=a(l-sin6).

(06 Marks)

(07 Marks)
(07 Marks)

(06 Marks)
(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

"2t% — 6t represents the parametric equation of a curve then, find

(06 Marks)

(07 Marks)
(07 Marks)
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OR

a. Find the component of velocity and acceleration for the: curs

at the points t = 1 in the direction of i—3j+2k. ¢ %AW@ (06 Marks)

i E

b. If t =V(xy’z*), find div t and curlt at the pointi(l, -1, 1). (07 Marks)

Prove that curl(grad ¢) = 0. (07 Marks)
a. Prove that j (06 Marks)
\/4 o
b. (07 Marks)
(07 Marks)
a. (06 Marks)
b. (07 Marks)
&
{07 Marks)
a.

(06 Marks)
4 1 -1
2 3 -1/ by taking the
-2 1 5

(07 Marks)
=—4x, +5X, +3%X;, ¥, =X, - X, - X,
(07 Marks)

iy

M@Q% OR
5x+2y+%%W12 X+4y+2z=15, x+2y+5z=20 by using Gauss

a.
. Carryout three’ iterations taking the initial approximation to the solution as
(06 Marks)
b. (07 Marks)
< —12xy+4xz—8yz into canonical form by

(07 Marks)

¥ %k %k 3k ok

20f2
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17PHY12/22

First/Second Semester B.E. Degree Examg; $ ion, Dec.2019/Jan.2020
Engineering Phys:cs

Max. Marks: 100

Note: 1. Answer FIVE full questions, choos INE full question from.each module.
2. Physical constants : h=6.624x10*JS, K=138x107]]

L

N, =622 %23/mole m—-—91><lO'~

a. Define phase velocity and grod stween them. (06 Marks)
b. Derive the expression for El values for a particle inside a

potential well of 1nﬁmtexhe1gh & (07 Marks)
c. Explain Heisenberg’s uncertainity principle. Mentio its physical significance. (03 Marks)
d. Find the kinetic energy‘and group velocity of 4n electron with De-Broglie wavelength of

0.2 nM. k (04 Marks)

a. What are the assumptlons of Plank’s lay
Jean’s lathfrom Planck’s law.

f radiation? Derive Wien’s law and Rayleigh-
4 (07 Marks)
: cllmensmnal time mdependent Schrodinger wave equation. (06 Marks)

c. What :‘Ize matter waves? Give 1ts§p§*‘t*§m%rt1es (03 Marks)
d. A spectral line of wavelength S“l%lgﬁ&*hm has a width of 1 m. Evaluate the minimum time
spent by the electron in the upper energy state een the ex01tat1on and deexcitation

processes. (64 Marks)
a. (06 Marks)
b. (06 Marks)
C. S %& (04 Marks)
d. Calculate the number of donor atom%wlnch must be: added to an intrinsic semiconductor to

10~ “thho/m. Given g Mﬂny of electrons = 125x10~ m*/VS.
. L (04 Marks)

74 2 S .
rical conductivity’of an intrinsic semiconductor. (06 Marks)

and cr1tlcalﬂﬁ Id for superconductivity. Explain temperature

, (06 Marks)

(1)) Thermal velocity  (iii) Relaxation time
(1V) Mean collision time. (04 Marks)
d. Find the tempmature at which tﬁe”‘ Jis 1% probability that a state with an energy 0.5 eV
abcve Fermi level is occupied. * (04 Marks)

, Module-3 :

a. What is attenuation in Optical fibers? Give the equation for attenuation coefficient. Explain
different attenuation mechanisms. (07 Marks)
b. Derive an expression for energy density in terms of Einsteien’s coefficients. (06 Marks)
c. Write a note on modes of propagation and V.number in optical fiber. (04 Marks)
d. The average e&f}tput power of a laser emitting photons of wavelength 632.8 nm is 5 mW.
Calculate the mki%lllber of photons emitted per second by the laser beam. (03 Marks)

!
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OR

a. (06 Marks)
b. (06 Marks)
C. (04 Marks)
d. The attenuation of light in an optlcal fiber is 2: 2 dB/km If the input power is 100 MW.

I (04 Marks)
a. Define packing factor. Obtain packing fa‘ or r for simple cubic, bee and fce structures.

(07 Marks)

wavelength of X rays. 4 (06 Marks)
¢. Define allotrophy and polymorp L m. (03 Marks)
d. Draw the following planes in a gubic unit cell:

(1 100 (i) (101), (04 Marks)

i) (111) (iv),

.

a.
b.
(06 Marks)
C. (04 Marks)
d.
(04 Marks)
a.
; (05 Marks)
b. rthe conservation laws.

‘ (06 Marks)
¢. Discuss Ball mﬂhng method of synhhéms of nanopartlcles (05 Mzrks)
d. What are‘“"“ arbon nanotubes? Merition their propemes (04 Miarks)

' 4
{07 Marks)
mg of scanning electron microscope. Mention
(08 Marks)
(05 Marks)

20f2
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17PCD13/23

First/Second Semester B.E. Degree Examinéﬁbn, Dec.2019/Jan.2020

Programming in C and D,ata Structures

Time: 3 hrs. , Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.

Module-1
What is pseudo code? Explain how pseudo code can be used to solve the problem with
suitable example. o b (06 Marks)
Explain the structure of ‘C” program with an example. (08 Marks)
What is type conversion? Exp lain the different types of conversion with example. (06 Marks)

- OR 3

Explain scanf( ) functidn and write the guidelines to be followed to use printf( ) function.

(07 Marks)
What is an operator? Explain the logical and bitwise operators. (07 Marks)
Define keyword, constant, identifiers with examples. (06 Marks)

, ~ Module-2

Explain cascaded if else and switch statement with syntax and example. (08 Marks)
Write a ‘C’ program to find the roofs of quadratic equation. (08 Marks)
Explain how break and continue statements are used m ‘C’ program. (04 Marks)
Explain the different types of loops used in ‘C” with syntax and example for each. (09 Marks)
Write a ‘C’ program to find whether a given no is palindrome or not. (05 Marks)

What are the nested loops? Write a f,‘C",,‘program to print to multiplication table upto ‘n’

using nested for loops. (06 Marks)
; -~ Module-3 ,
What is an Array? Explain the declaration and initialization of one dimensional array with
example. gy - (07 Marks)
Write a ‘C’ program to add two matrices. (08 Marks)
Explain Recursion with an example. { ¥/ (05 Marks)
- OR
Explain any four string manipulation library functions with example. (08 Marks)
Explain function call, function definition and function prototype with example. (08 Marks)
What are actual parameters and format parameters? (04 Marks)
Module-4
What is structure? Explain with syntax and example, the concept of structure defining,
declaration and initialization. (10 Marks)
Explain array of structures and structure within structure with example. (10 Marks)

1 of2
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OR 2 e
What is a file? Explain fopen( ), fclose( ) function with example. (10 Marks)
Give two university information files “‘s_t;lidentname.txt” and “usn.tax” that contain
studentname and USN respectively. Write a ‘C’ program to create a new file called
“output.txt” and copy the content of “studentname.txt” and usn.txt” into “output.txt” file and

then display on the screen. o, (10 Marks)
Module-5 :
What is a pointer? Explain how the pointer variable is declared and initialized. (06 Marks)
What is preprocessor directive? Explain #define, #include preprocessor directive. (06 Marks)
What is stack? Explain the operations performed on stack. (08 Marks)
OR ;

What is dynamic memory allocation? Write and explain the different dynamic memory
allocation function in ‘C’. (08 Marks)
What is queue? Explain the types of queues. (06 Marks)
What is a linked list? Distinguish between a singly linked list and doubly linked list.

= ‘ ; (06 Marks)

20f2
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KIS |V [+ ME |D|5 |8

First/Second Semester B.E. Degree Exankg;@

bn, Dec.2019/Jan.2020
Basic Electrical Engineering

Max. Marks: 100
ach module.

State and explain Kirchoff’s laws. % (06 Marks)
Coils AandBina magnetic cimtfit g\aVe 600 and 500 turns J‘é gectlvely A current of 8A in

‘m o

‘induced EMF in 0011 B, when
flux W1th it changes from zeno to full value in 0.02 sec. (07 Marks)
,‘,wmg through 12Q and mmresmtances i) Total power dissipated

(07 Marks)
OR

State and explain : i) Fara\day s second law ii) lﬁl@&ﬁqgs left hand rule - (06 Marks)
Apply Kirchoff’s lawg \Qto «Pﬁld pontifical dlff‘ ‘i‘ence between X Y for below shown
electrical circuit dlagraﬁIN Fig. Q2(b) (07 Marks)

2V

S b
s@l L ¥

g‘“@m iwﬁ%
(07 Marks)
xplain the basic. % %gng principle of a“ Y“J motor. (06 Marks)
. "An 8 pole lap C@ ected armature).\has@ 960 conductors, a flux of 40 mWb per pole and a

speed of 400nRPM. Calculate the:

what spe ust'it be driven to* Werate 400V? (07 Marks)
Explain thel%sm Workmg prmclple of dynamometer type wattmeter with a neat diagram.
(07 Marks)
4 %
x%%ww OR
Discuss the cla351ﬁcat10n of DC generators. (06 Marks)

A 4 pole, DC shunt hotor takes 22A from 220V supply. The armature and field resistances
are 0.5Q and 100£$§“respect1vely The armature is lap connected with 300 conductors. If the
flux per pole {8:20°mWb. Calculate : i) Speed ii) Torque. (07 Marks)
Descrlbe the.worklng principle of single phase induction type energy meter with a neat
i : (07 Marks)
1of2
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Module-3
Show that current ‘1’ lags the applied voltage ‘v’
also power consumed is zero.

in a pure inductive AC circuit and

(06 Marks)
%IOA lagging the voltage by 20°. Calculate
the re81stance and mductance of the circui D‘ w the waveforms of vd%wg%ge and current.

y 90

iy, s (07 Marks)

Explain : i) 2 way control of lamp n) C(QCSQ“ g% (07 Marks)
OR

List out the points for necessi arthing. Explain the pIa searthing a suitable diagram.

. (06 Marks)

Derive an expressions for RMS value and average value of sinusoidal AC current. (07 Marks)
Two impedances (2 + j3)Q¥and (3 —j4)Q are connected in parallel across 100Volts, 50Hz
supply, Find : i) Brang ‘ents ii) Total current Am the circuit diagram. (07 Marks)

Module-4 -
Obtain the Volt@%‘i{é%nd current relations for a balanced 3phase star connected system with
suitable circuit ‘& ,ﬁ&%vector ‘diagram. 4" ) (06 Marks)
A balanced ‘“delfya connected load of (8 +]6)Q per phase is connected to a 3 phase 230Volts,
50Hz, AC ‘supply. Find : i) Phase current i) Line current iii) Power factor iv) Power
V) Reactlve power vi) Volt — Amp{_ fy, (07 Marks)
A6 pefe 3 phase, start connect, Itemator has an armature with 90 slots and 12 conductors
per slot, If revolves at 1000 RPM,The flux per pole bem& 0.05 Web.
Calculate ; i) Phase EMF ..ii) Line EMF. Assummg the winding fact%@ 0.97. (07 Marks)
»&%’ﬁ; i
Explain the generatlon ofy
The power 1nput to

o

(06 Marks)

(07 Marks)
(07 Marks)

(06 Marks)

Determine : 1) Synchroﬁous speed ii) Noload Speed ili) Full load speed iv) frequency of rotor
urrent at stand stil LV) Frequency of roter-eufrent at full load. (07 Marks)
A 200KVA, 10 QQ 400V, 50Hz smgle phase transformer has 200 turns on the secondary.

~ Calculate : 1) Prlmary and secondary clirrents ii) Number of primary turns

ax1mum Value of ﬁﬁ?{%

111)"

O ¥ OR
List the various losses in uan@fomer and discuss each one in brief with their minimization

iv) Flux density at Area = 18cm’. (07 Marks)

techniques. L (06 Marks)
Describe the basic wotkifig principle of 3 phase induction motor and list the applications of
induction motor. o 7 (07 Marks)

E

(07 Marks)

* % %k ok ok

20f2
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a. Define the following diode param % A4
i) Static resistance 11) > mi ii1)% Reverse saturation current

& (05 Marks)

(o} resmtance

iv) Peak Inverse voltage ‘
b. With circuit diagram *ﬁnd‘@
characteristics for pnp; 1 (08 Marks)
c. A full wave rectifier W“ith a transformer secondary voltage 60V — 0 — 60V, supplies a load
resistance Ry = 2kC% «The diode forward resmtance R¢is 10Q). Determine

i) maximum va %& of current in conducting’d dlodes ii) dc value of current through R
iii) output d¢ voltage and iv) PIV atross cach diode. (07 Marks)
&) »
gw""“\ ! OR F
a. v‘tf?avefomls explain th w fking of Bridge rectifier.
(08 Marks)
b. istor connected to
30V supply. If zener dlodéw ith Vg = IV, Izt '@Q is selected th“ .determine the value
¢ rént when the supply oltage drops to 27V,
. (05 Marks)
c. Define Common — base current gain 2 ommon — enﬁf'tor current gain of transistor.
Derive the relati@ﬁ‘@iaip between them.. ansistor has IC .}:mA Iz = 3.03mA, then find
i -~ . (07 Marks)
- g% Module—2 "
a. i diagram and necessﬁri' equatlons, exrp lain the base bias circuit. (05 Marks)
b. For f%voltage divider bﬁ@%oﬁcult using s1hco&1 t‘ranmstor Ve =18V , R; =33KQ ,

R, 212KQ , R, = 1.2KQ and Rg = IKQ ng approximate analysis, determine Vg , Vc,

s;y"o IC and VCE » ¥ i (08 Marks)
% With a neat circuit dlagram derive an equatlon for output voltage of non inverting amplifier
Yusing op - amp. ¢ (07 Marks)
~ 7 or
a. Forthe cwxﬁﬁ shown in fig. Q4( ), find the Q — point ‘values and draw the dc load line. The
transistor has Vg = 0.7V and B = 50. (07 Marks)
ey

r’ﬁﬁk‘m
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b. Mention the characteristics of ideal op — amp. (05 Marks)
c. Calculate the output voltage for the circuit shown in fi (08 Marks)
[0k
KN
AW
Fig.Q4(c) 1 A
ek
v
o Module—3 0,
a. Convert the following : %@% Qé{8)10 ={(s. 11) (A@ 5E)i16=(Ms. (06 Marks)
b. Simplify Y = ABC+A B ('§ + ABC and then realize using
1) basic gates only 11} NOR gates only , (08 Marks)
c. Explain half adder cn@% d realize using basic gates: (06 Marks)
4 W) s
d OR ¢
Subtract i) (1(5&? 1)5 (1 10)2 using 1’s cqmplyment
11) (1001)2 — (1110), using 2’sco qmplement (06 Marks)
1 and write the truth table of the exclusive — NOR gate and EX — OR gate.
RealizeAl ¢ same using basic gates, also. (06 Marks)
c. Simphfy tfi ¢ following Bodean expr%%smns ;
i) Y=A+AB+ABC+AC "1 '}§
and realize using basic gates. (08 Marks)
1> Module-4
a. What is flipflop? Explaln ‘the operation of igmﬁ cked RS flip flop. # (06 Marks)
b. Explain the operemon“‘*of NOR gate latch’ € Yy (06 Marks)
c. With a neat b] kediz iagram, describe 8(@1 Jnicrocontrollers, " (08 Marks)
a. Explainméperation of NAND ¢ %te Iatch ¢ - (05 Marks)
b. List th¢ salient features of 805 siicro controller: S —d (07 Marks)
c. Interfaée stepper moto 051 microcontroller with a neat block diagram. Explain its
ygyorlémg principle, full st d half step swyee (08 Marks)
Ay, Module—S
a. VExplaln the blocfgmagram of comunlﬁatlon system. (06 Marks)

(04 Marks)
(10 Marks)

OR

a. Give a comparison of AN (06 Marks)
b. With a neat circuit diagram, explain the demodulation of AM signal. (06 Marks)
c. Give the classifi ’Qg@on of transducers. Also mention the desirable properties of a good

transducer. ﬂ;ggf; (08 Marks)

& %k k%
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First/Second Semester B.E. Degree Exaﬁmainia'tion, Dec.2019/Jan.2020

Time: 3 hrs.

o

Elements of Civil Engineering and Mechanics

Max Marks: 100

Note: Answer any FI VE fuII questions, chaosmg
ONE full question from each module. '

‘Module-1
Explain briefly the scope of the following civil engineering fields:
1) Surveying
1) Structural Engineering. : (06 Marks)
Explain briefly:
1) Equilibrium and Eqmlxbrant
1) Rigid body and elastic body

1) Scalars and vectors. S (06 Marks)
Two forces act at an angle of 120°. The bigger force is of 40kN and the resultant is
perpendicular to the smaller force. Find the small force. (08 Marks)
What is the role played by a“‘f vil engmeermg m the infrastructure development of a
country? : o (06 Marks)
Draw a neat sketch of components of pavement. EYplam it briefly. (86 Marks)
4 forces acting at point ‘0’, Determine the direction and magmtude of the resultant force
with respect to the given axes of reference. - ¥ (08 Marks)

5\‘} WY e

; L\o\‘\

e o
5 > X

YT

pr¥-

Fig.Q.2(0)

Module-2
Define: i) Angle of friction  1i) Limiting friction iii) Coefficient of friction. (06 Marks)
A body of weight 100N is suspended by which two strings Sm and 4m length attached at
same horizontal line 6m apart. Find tension in the strings. (08 Marks)

b Fig.Q.3(b)
State and prove Lami’s Theorem. (06 Marks)
1 of 3
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OR ;
State the laws of friction. (06 Marks)
Explain the resolution of force. (04 Marks)
A string ABCD attached to two fixed points A and D has two equal weights of 100N
attached to it at B and C. The weights rest with the portions AB and CD inclined at an angle
of 30° and 60° respectively to the vertical as shown in Fig.Q4(c). Find the tensions in the

portions AB, BC and CD of the string and also find the inclination of the portion BC with
the vertical is ‘0. R " (10 Marks)

C
tbo":'&'
Fig.Q.4(c)
3, Module-3
Explain the different types of supports and types of loads with neat sketches. (08 Marks)
The system of forces acting on a body as shown in Fig.Q.5(b) below. Find forces Ri, Ry
and H. Show that the body is in equilibrium. -~ (12 Marks)

\kﬂémkf‘—f?;lfg}; JAR— L 5kn
¢ g

!

Im
L] ﬂgL
{%

Fig.Q.5(b)
. State and prove the Varignon’s theorem and its application. (08 Marks)

. Find the reactions at all supports of the composite beam loaded as shown in Fig.Q.6(b)
o ’ ; (12 Marks)
160N

g A ‘[ w}\ . m{ 200 N/m 50N'm
covebre

B
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Module-4
Define:
i) Moment of Inertia
ii)  Radius of gyration A
iii)  Polar moment of Inertia. \ 'y (06 Marks)
Explain perpendicular Axis theorem. " (04 Marks)
Determine the position of centroid of the shaded area of the Lamina shown in Fig.Q.7(c)
with respect to ‘0’. (10 Marks)

OR

Derive the expression for coordinates of centroid of a trapezium whose parallel sides are ‘a’
and ‘b’ and altitude h. (10 Marks)

Determine the moment of inertia of a section shown in Fig.Q.8(b) about the horizontal axis

passmg through the centroid. All dlmensmn are in mm. Also find the radius of gyration.
: an (10 Marks)

Fig.Q.8(b)

Module-5
A tower is 90m in height. W partlcle is droped from the top of the tower and at the same time
another particle is projected upward from the foot of the tower. Both the particle meet at a

helght of 30m. Find the velocity with which the second particle is projected upward.
(10 Marks)

A cricket ball thrown by a player from a height of 2m above the ground at an angle of 30° to

the horizontal w1th a velocity 20m/sec is caught by another fieldsman at a height of 1m from
the ground. F md the distance between the two players (10 Marks)

; OR
Calculate the super elevatlon required for a circular track of radius 250m. for a vehicle
travelling at SOkmph. Also calculate the side thrust on such a super elevated road if the

weight of the vehicle is 10kN and the speed is raised to 80kmph. (10 Marks)

Define projectiles. Explain the terms used with projectiles. (06 Marks)

To prove that the path traced by the projectile by a parabola. (04 Marks)
* sk k %k 3k
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First/Second Semester B.E. Degree Ex:

Elements of Mechani

Cylinder diameter
Stroke of the piston = 40c:
Crank shaft speed =250
Brake load g

Brake drum diameter .

=0.lm’/min"
=0.78
= 43900kJ/kg

i)  Brakepower

iiy  Indicated power

iii)  Frictional power
Mechanical effic:

1of2

“edbduring a trial on afour stroke diesel engine:

17EME14/24

(10 Marks)
examples.

(06 Marks)
(04 Marks)

(10 Marks)

(10 Marks)
(05 Marks)
(05 Marks)

(10 Marks)

(10 Marks)
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Module-3
Explain the taper turning by swiveling of the compound r
Explain Boring operation on a drilling machine with s
List out the various operations that can be performed

with a neat sketch. (10 Marks)
le sketch. (06 Marks)
1 a milling machine. (04 Marks)

OR
With the help of simple diagrams, explain va

us types of Robot joints. (10 Marks)
‘ i 9 (10 Marks)

, (05 Marks)
‘and polymer matrix composite.
(10 Marks)
(05 Marks)

(10 Marks)
(04 Marks)
(06 Marks)

Module-5
neat sketch the workmg of a vapour absorpt1on refrigerator.

(10 Marks)
(06 Marks)
(04 Marks)

(10 Marks)
(10 Marks)

2 0f2
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1. On completing your answers, compulsorily draw diagonal cross lines on the rem
Any revealing of identification, appeal to evaluator and /or equations written ¢
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Important Note :

Note: Answer any FIVE full questions, choosing
ONE full question from each module.

Module-1
3 2
L L SRTL P
dx dx” dx
Solve (D* — 4)y = Cosh (2x — 1) + 3*
Solve (D? + 1)y = Secx by the method of variation of parameters.

Solve

OR
Solve D*~9D* + 23D —15)y =0
Solve y" - 4y' + 4y = 8 (Sin2x + x%)
d’y

=

dx dx

Solve

Module-2
Solve (x’D* + xD + 1)y = sin (2logx)
Solve ><2p2 +3xyp +2y* =0
Find the general and singular solution of Clairaut’s equation y = xp + p°.

OR
Solve (2x + 1) y" -2 (2x + 1) Y - 12y = 6x
Solve p2 +2pycotx —y* =0

+2—=+4y=2x" by the method of undetermined coefficients.

" (06 Marks)

(07 Marks)
(07 Marks)

- (06 Marks)

(07 Marks)

(07 Marks)

(06" Marks)
(07 Marks)
(07 Marks)

(06 Marks)
(07 Marks)

Find the general solution of (p — 1)e’ + p’ ¢ = 0 by using the substitution X =¢*, Y = ¢*.

Module-3
Form the partial differential equation by eliminating the

Z:y2+2f(i+1ogy)
A X

2
0

Solve
O0x0y oy

multiple of g

~2 2
. . . . o'u , 07U
Derive one dimensional wave equation e G o
: ot” X"

(07 Marks)

function from

(06 Marks) v

; ; . 0z J A
=sinx siny for which — =-2sinywhen x = 0 and z = 0 when y is an odd

(07 Marks)

(07 Marks)
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OR
Form the partial differential equation by eliminating the function from
f(x+y+z,x*+y*+2%) =0 (06 Marks)
0’z . oz
Solve 52' +2z =0 given that z = cosx and — =sinx when y=0. (07 Marks)
) 0
. . ' " . oU_ _,dU
Obtain the variable separable solution of one dimensional heat equation 5 =C" —.
X_
‘ (07 Marks)
Module-4
22
Evaluate “‘(xz +y?)dxdy : (06 Marks)
01 '
oc C—_y
Evaluate J.J.v—dydx by changing the order of integration. (07 Marks)
0 x
: : , I'(m)r
Derive the relation between Beta and Gamma function as B(m,n) = M (07 Marks)
I'(m+n)
OR
¢ boa
Evaluate J.“.(x2 +y’ +27)dx dydz (06 Marks)
~¢—b-a .
Find the area between the parabolas v’ =4ax and x* = 4ay. (07 Marks)
n/2 n/2
. de
Prove that |+/Sin6do = (07 Marks)
;',‘ '0[ V/Sin® :
Module-5
Find the Laplace transform of [—C—MJ : (06 Marks)
, Sint 0<t<l :
Express the function f(t) = i 2 in terms of unit step function and hence find
Cost t>=
2
Laplace transform. (07 Marks)
; - S + 2
Find L '(—b—w _ (07 Marks)
$°=2s+5
OR
Find the Laplace transform of the periodic function f{t) =t% 0 <t <2. (06 Marks)
Using convolution theorem obtain the Inverse Laplace transform of _Tz_l—) (07 Marks)
s'(s” +
Solve by using Laplace transform y" +4y' +4y=¢". Given that y(0) = 0, y'(0) = 0.

(07 Marks)
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